A\
7

User Manual

Customer Service
US: 1-800-645-2986

GLOBAL
INDUSTRIAL
We can supply that:

Manual de Usuario

Servicio de atencion al Cliente
US: 1-800-645-2986

Manuel de I'Utilisateur

Service a la clientéle
Canada: 888-645-2986

Light Duty Electric Adjustable Height Workbench

A Caution / Information

Frame and Leg Kit
Model n0.493778GY

Technical Specifications

Make sure no obstacles are in the desk’s path.

Make sure the desktop is not touching any walls. A :VA"'::.HNG
Make sure all cords are appropriate length to Keep“ﬁandlsn;nd
accommodate the change in height. fingers clear

Keep children away from electric height-adjustable desks,
control units and handsets. There is a risk of injury and electric shock

Keep all electrical components away from liquids.

Do not sit or stand on the desk frame.
Do not crawl or lie under the desk frame.

Do not place any objects taller than 20" underneath the desk.

Do not open any of the components ---the Legs, Control Box, or Switch.
There is a danger of electric shock.

This product is designed with a duty cycle of 10%. (2 min. on, 18 min. off)

In the event of a power outage or if the power cord is unplugged,
a manual reset may be necessary--see Step 12.

— | — — — p— | — p—

Use/Liability

This height adjustable desk has electric motors and is designed for
use in dry work areas only.

The desk height is adjustable so that it can be positioned at the most
ergonomically suitable height.

Any other use is at user’s risk.

Under no ci does the mar accept warranty
claims or liability claims for damage caused from improper use or
handling of the desk frame.

Important:
Please read this manual carefully,

Height Range

70CM-120CM (without desktop)

Base Width 110CM-180CM

Travel Speed 20 per second (no load)

Weight Capacity 500LBS

Duty cycle 10%. Max. 2 mins on, 18 mins off
Soft start/stop

Adjustable leveling studs

4 Memory presets

Tools required

7

4mm Allen Smm Allen
Wrench (Included) ~ Wrench (Included)

Parts
=3 t@’ &
Phillips Head Screwdriver and/or Power Drill Tape Measure

~—— Tools required

T‘Zs jﬁ‘”

L
()

Switch Motor Cord Power Cord Foot

L.

ey A o D
@ o (+:]

Crossbar Ends Side Brackets

Gl T8 AA

Center Rails Control Box

Adjusting nut ~ ShortRung  Long Rung

~—— Hardware

® O =

Machine Screws M6x10 Machine Scra

@ (» « ® &

|_ Furniture Screws M6x10

@ O«

Butterfly Nut M6

@@m’xa @mexz

ews M6x16 Wood Screws M5x25 Wood Screws M4x16
x4

~—— Hardware

No.Description
1. Le

3. Crossbar End:
4. Side Brackets.
5. Center Rails---
6. Control Box 1

21. Machine Screws: M6x10-
22. Machine Screws: M6x16-
23. Wood Screws: M5x16.--
24. Wood Screws: M4x16---——- 2
25. Furniture Screws: M6x10-
26. Butterfly Nut: M6---




Light duty Electric workbench, 2 x legs

Assembly Instructions

Lay out all components and hardware to ensure that you have all the components
and hardware listed on the parts page.

Fully separate the Crossbar Ends (P3). You will find the Crossbar Center Rails (P5) inside.

Place the table under the accessories and place it in
correct position.

Please make sure the position of the desk and
tabletop are suitable for each other.

Please attach the tabletop with the desk frame
with six(6) M5*16 Wood Screws(P23) and
tighten the screws.

Prop up the assemblies from Step 1,
as shown.

Insert four M6*10 Machine Screws(P21)
through the holes of each Crossbar End(P3)
going into the Leg(P1) and tighten the
screws.

Attach the Side Brackets(P4) to the
Leg/Crossbar End assembly with two M6*10
Machine Screws(P21).

Repeat this step with the other assemblies.

8

Slide the two Crossbar Center Rails(P5) into the two
Crossbar Ends (P3).

Please insert eight M6*10 Machine Screws (P21)

through the holes in each Crossbar Ends(P3) going
into the Center Rails(P5) and tighten the screws.

8.5 ‘
Please attach the Control Box(P6) under the

tabletop with two M5*16 Wood Screws(P23).

Please also attach the Switch(P7) under the
tabletop with two M4*16 Wood Screws(P24).

B

Then to connect Leg(P1 and P2) and Control Box(P5) with |
Motor Cord(P8).

Please connect the wire of the Switch(P7) to the
Control Box(P6).

Please plug the Power Cord(P8) into the Control
Box(P6).

B

Attach the Short Rungs(P12) to the Leg with
four M6*10 Furniture Screws(P25).

Then attach the Long Rung(P13) to the Short
Rungs(P12) with four M6*16 Machine Screws(P21)
and four Butterfly Nut M6(P26).

&

Attach a Foot(P10) with four M6*16 Machine Screws(P22)
into each leg(P1 and P2) and tighten screws.

Connect four Adjusting Nut(P11) together with each
Foot(P10).

8.0 y
Turn the assembled desk right-side-up.
It'" s done.

\ J

—B ;

Plug the Power Cord(P9) into a 110V-240V outlet.

Make sure no obstacles are in the desk’s path.
A Make sure the desktop is not touching any walls.
Make sure all cords are appropriate length to

date the.change in height.
Important: You mustRESE the desk prior toLse, |~ ©

Reset Procedure: Press and hold the DOWN button on the Switch (P7) until the desk reaches its lowest height.|
Release the DOWN button. Press and hold the DOWN button again until the LED display reads “RST* or
about 10 seconds on non-LED handset models. Release the DOWN button. Press and hold the DOWN button
again until the desk lowers a little bit more, slightly rises and stops. Release the DOWN button. Your desk is
now ready to use.

To program up to four presets (on some models): Use the up/down buttons to find a desired height, then
press “M" ("S" on some models) followed by a number 1--4.

Caution: Once a preset button is pushed, the desk will move to the programmed
height(see caution box above).

,—-@ Troubleshooting \

If your desk is not functioning properly it may need to be reset. Unplug the power cord for 20 seconds.
Plug the power cord back in and follow the RESET procedure outlined in Step 11.

If your desk has a handset with an LED readout and it displays “RST" (reset), perform the reset
procedure outlined in Step 11.

If the LED readout displays an error message ( “Erl” -- “Er13" ) confirm that all wired connections are
secure(legs to cables, cables to control box). Then perform the reset procedure outlined in Step 11.

If the error message persists after the reset procedure, contact your seller.

If the height between the legs exceeds 1.5 inches, stop the reset procedure&contact your seller.

If the handset displays "HOT" , let the base cool down for 20 minutes.




Control Panel Instructions

SERAIVE 234N

- A

When powering on for the 1St time, or if the display showsE =E [DB orE ( hold m for 3 seconds until i~ EE

shows on the screen. The desk will reset both legs to the lowest position.

Lifting

Press to raise and lower the desk
\
Pressm and then press “ e to save the current height to memory
\
Pressmfor 3 seconds until 5‘ = flashes on the display. Pressmagain to enter setup mode.
Use to scroll through the setup options, pressingmto select one of the following modes:
Ul‘l Units .|| Displays height in cm ) imudisplays height in inches
bl‘ Brightness L Low, ) |Normal orl | High screen brightness
hEE Beep DF! or l.u‘l
[F Collision Force DFF LLight ﬂNormaI or H Heavy collision force detection
SH Set Height l'l ! Original height after RESET | Program |‘|H|gh & I_ Low height limits
Ell'l Serial Number Scrolls in display window
dE Demo (Mode disabled)
\
HCIE Overheat Alert Let unit cool down
EEE Collision / Tilt Eliminate cause of collision, tilt or vibration | Press any key to clear | RESET
E =B Motor Error Check all cables and connections | Power OFF/ON | RESET
EEE Overload Remove heavy objects from desktop | Power OFF/ON | RESET
E3 ! Low Voltage Power OFF/ON, RESET
E32 High Voltage Power OFF/ON, RESET
EED Sync Error Check all cables and connections for both motors | Power OFF/ON | RESET




	页 1
	页 2



